
HGT-032454 

 
Hope Land General Trading 
 

   

 

S.N Qua

ntity 
Unit of 

Measure Long Description 
1 40 EACH NUT SR-LOCK M5 DIN985 
2 40 EACH SCREW SR-MC6S 5X67 A4-80 MEMBRANE PLATE VPA 15 
3 120 EACH SCREW, CAP, HEXAGON SOCKET HEAD ISO4762-M8X25-A4-80-UNPLTD 
4 880 EACH SCREW, CAP, HEXAGON SOCKET HEAD ISO4762-M6X16-A4-80-UNPLTD 
5 440 EACH NUT MEMBRANE PLATE VPA15 
6 200 EACH WASHER, PLAIN ISO7089-24-200HV-TZN 
7 100 EACH NUT, LOCK C/W HELICOIL M24 CLASS 
8 100 EACH SCREW, CAP, HEXAGON SOCKET HEAD ISO4762-M24X180-12.9-UNPLTD 

 
    


